
Calculus Review 

 

Find each antiderivative. 
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Evaluate each definite integral. 
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[19] A particle is moving along the x-axis so that its acceleration is given by   2 7a t t  , 0t  , measured in m/s2. 

At time 0t  , the velocity is 10m/s and the particle is at 3x   .   

[a] Which way is the particle moving when 3t  ? 

[b] Where is the particle when 3t  ? 

[c] Is the particle’s speed increasing or decreasing when 3t  ? 

[d] When is the particle at rest? 

[e] Find the distance travelled by the particle during the first 10 seconds. 

[f] Find the displacement the particle after the first 10 seconds. 
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At time 0t  , the particle is at 4x  .   
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